
Answer on Question #85412, Physics / Other 

Show that for two scalar fields 𝑓 and 𝑔: 𝛻 ∙ [𝛻𝑓 × ( 𝑓 𝛻𝑔)] =  0.  

Solution:  

Using definitions of the vector differential operations, 

𝛻 ∙ 𝐀 = 𝛻𝑖𝐴𝑖 =
𝜕𝐴𝑥

𝜕𝑥
+

𝜕𝐴𝑦

𝜕𝑦
+

𝜕𝐴𝑧

𝜕𝑧
 

𝛻𝑓 = 𝒆𝒊∇𝑖𝑓 = 𝒆𝒙

𝜕𝑓

𝜕𝑥
+ 𝒆𝒚

𝜕𝑓

𝜕𝑦
+ 𝒆𝒛

𝜕𝑓

𝜕𝑧
 

[𝐀 × 𝐁] = 𝑒𝑖𝜀𝑖𝑗𝑘𝐴𝑗𝐵𝑘 = |

𝒆𝒙 𝒆𝒚 𝒆𝒛

𝐴𝑥 𝐴𝑦 𝐴𝑧

𝐵𝑥 𝐵𝑦 𝐵𝑧

| 

we obtain 

[𝛻𝑓 × ( 𝑓 𝛻𝑔)] = 𝑓
|

|

𝒆𝒙 𝒆𝒚 𝒆𝒛

𝜕𝑓

𝜕𝑥

𝜕𝑓

𝜕𝑦

𝜕𝑓

𝜕𝑧
𝜕𝑔

𝜕𝑥

𝜕𝑔

𝜕𝑦

𝜕𝑔

𝜕𝑧

|

|
 

= 𝑓 [𝒆𝒙 (
𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑧
−

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑦
) + 𝒆𝒚 (

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑥
−

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑧
) + 𝒆𝒛 (

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑦
−

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑥
)] 

Thus 

𝛻 ∙ [𝛻𝑓 × ( 𝑓 𝛻𝑔)] = [
𝜕𝑓

𝜕𝑥
(

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑧
−

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑦
) +

𝜕𝑓

𝜕𝑦
(

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑥
−

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑧
) +

𝜕𝑓

𝜕𝑧
(

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑦
−

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑥
)] 

+𝑓 [
𝜕

𝜕𝑥
(

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑧
−

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑦
) +

𝜕

𝜕𝑦
(

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑥
−

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑧
) +

𝜕

𝜕𝑧
(

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑦
−

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑥
)] 

=
𝜕𝑓

𝜕𝑥

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑧
−

𝜕𝑓

𝜕𝑥

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑦
+

𝜕𝑓

𝜕𝑦

𝜕𝑓

𝜕𝑧

𝜕𝑔

𝜕𝑥
−

𝜕𝑓

𝜕𝑦

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑧
+

𝜕𝑓

𝜕𝑧

𝜕𝑓

𝜕𝑥

𝜕𝑔

𝜕𝑦
−

𝜕𝑓

𝜕𝑧

𝜕𝑓

𝜕𝑦

𝜕𝑔

𝜕𝑥
 

+𝑓 [
𝜕2𝑓

𝜕𝑥𝜕𝑦

𝜕𝑔

𝜕𝑧
+

𝜕𝑓

𝜕𝑦

𝜕2𝑔

𝜕𝑥𝜕𝑧
−

𝜕2𝑓

𝜕𝑥𝜕𝑧

𝜕𝑔

𝜕𝑦
−

𝜕𝑓

𝜕𝑧

𝜕2𝑔

𝜕𝑥𝜕𝑦
+

𝜕2𝑓

𝜕𝑦𝜕𝑧

𝜕𝑔

𝜕𝑥
+

𝜕𝑓

𝜕𝑧

𝜕2𝑔

𝜕𝑥𝜕𝑦
−

𝜕2𝑓

𝜕𝑥𝜕𝑦

𝜕𝑔

𝜕𝑧
−

𝜕𝑓

𝜕𝑥

𝜕2𝑔

𝜕𝑧𝜕𝑦

+
𝜕2𝑓

𝜕𝑥𝜕𝑧

𝜕𝑔

𝜕𝑦
+

𝜕𝑓

𝜕𝑥

𝜕2𝑔

𝜕𝑦𝜕𝑧
−

𝜕2𝑓

𝜕𝑦𝜕𝑧

𝜕𝑔

𝜕𝑥
−

𝜕𝑓

𝜕𝑦

𝜕2𝑔

𝜕𝑥𝜕𝑧
] = 0 + 𝑓 × 0 = 0 
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